INSTALLATION MANUAL

® 2 HANDRAILS
® OTTOMAN
® ARMLESS CHAIR



https://manuals.plus/m/b87b2abcfade991536ff1b4809fed03f600c8482e46e7ff39e599009fb01b6cb

@:r PRE-ASSEMBLY INFORMATION

Please read this manual carefully before beginning assembly of this product.

Keep this manual for future reference.

[\ NOTICE

® Please keep this manual and hand it over when you transfer the product.

® Please read the following instructions carefully and use the product accordingly.

® This summary may not include every detail of all varations and considered steps

® Please contact us when further information and help are needed,

® Please do not exceed the weight imitations of this itemn,

® Do not stand on or use any part of this item as a step ladder. If any parts are missing, broken, damaged, or
worn, stop using this item until repairs are madeand/or factory replacement parts are installed.

® Plegse assemble the item in a spacious room and do not place the unwrapped product directiyon the ground
to avoid damage.

® Do not use this item in a way inconsistent with the manufacturer's instructions as this couldvoid the product
warranty.

® Periodically inspect screw tightness while the product is in use. If necessary, retighten 1o ensure structural mtegrity

® To avoid the potential dangers of suffocation, please keep all parts and packaging (films, plastichags and
foam,etc) away from children and pets,

® Do not use or store this item in the proximity of open flame or flammable/fcombustible chemicals.

® Do not expose product to direct sunlight exposure or rain, and do not put it in a humid place. Failureto do so

may accelerate the distortion or discoloraton,

® Do not tighten bolts / screws completely until all bolts / screws are lined up and inserted into holes.

® Do not over tighten screws and baolts to avoid stripping.
@ Please use hand tools to assemble this product. If you're using power tools, remember to set the toolto low
torgque to avoid damage.

® We recommend unpacking and starting assembly of this item when all boxes are received.



go. CHOOSE YOUR COMBINATION

[ There are 6 combinations here ]

This sofa we have a variety of combinations, please check the corresponding
installation instructions according to the combination you purchased.

» 1- Seat Sofa » 1- Seat with Ottoman

ogan® i = Fl' B!
( )
o _J
> 2 - Seat Sofa » 2 - Seat with Ottoman

» 3 - Seat Sofa




ASSEMBLY INSTRUCTION (HANDRAILS)

HANDRAILS COMPONENTS

st NSTRUCTON (ANDRALS
'

1pc 1pc

z: :w

J

(H) Left Armrest

.1;{

——

(R) Alley Key

!

:

(I) Right Armrest

Bpcs+1pc | Bpcs+1pc
(O0) M&*60mm Bolt (M) Washer

Note: Please retain all boxes until you are certain that your product isn't damaged and that you do not wish
to return it. Disposal of boxes may prevent our ability 1o resolve your request,



ASSEMBLY INSTRUCTION (HANDRAILS)

<D

=9 | \

Assemble the Left armrest (H) to the Seat frame (A) with Washers (N) and Bolts (O).

(N) Washer
(R) Alley Key

"

(0) M6*60mm Bolt

.............. (A) Seat Frame

(H) Left Armrest

==

% Note The Seat frame (A) i nsice the box ofthe Arless Chai.

(R) Alley Key (N) Washer

Assemble the Right armrest () to the Seat frame (A) with Washers (N) and Bolts (0).

/== rih -_fj'nl S

(0) M&*60mm Bolt

(A) Seat Frame

(®us ]
L ©) x4 Jre-somm




ASSEMBLY INSTRUCTION (OTTOMAN)

[ 3
\ £
_ _/
OTTOMAN COMPONENTS
-1pc |11 pc 4pcs -4pcs+1pc
(N) Ottoman Frame (O) Ottoman Cushion (G) Leg (L) Gasket

Note: Ottoman's Leg is zippered open at the bottom in accessory N.
Look carefully!

(M) Ottoman Frame



ASSEMBLY INSTRUCTION (OTTOMAN)

Assemble the Legs (G) on the ottoman frame with Gaskets (L).

o (L) Gasket

$

(N) Ottoman Frame

<D

The cushion is packaged by vacuum compression. After cutting the package, it rebounds
quickly with in 4 hours. If the fabric has wrinkes, it will basically disappear after standing
for 72 hours .

Pat around evenly plump

\
< >m‘?‘i& Q—ré%%ﬁ
N

Pat around evenly plump




<P

Place seat ottoman cushion (O) on the ottoman frame (N).

(O) Ottoman Cushion

--------- (N) Ottoman Frame

If the fabric has wrinkles, it will basically diappear after standing for 72 horus.

—T
S




ASSEMBLY INSTRUCTION (CHAIR)

® Please install the 1- Seat / 2 - Seat / 3 - Seat Sofa according to the combination
style you purchased.

® All single sofas are installed in the same way, you can add or subtract accessories
and steps according to your purchase.

® Below you will find the installation accessories and steps for the 3 - Seat Sofa.

CHAIR COMPONENTS

» Parts List ( BOXA)

Tpc / \ Tpc / \ 8pc 8pcs
N : I : - 1 @
(H) Left Armrest || (1) Right Armrest | | (O) M6*60mm Bolt (N) Washer
1pc
(R) Alley Key

Note: Please retain all boxes until you are certain that your product fsn't damaged and that you
do not wish to return it. Disposat of boxes may prevent our ability to resolve your request.



CHAIR COMPONENTS

» Parts List (BOXB)

(0) M6*60mm Bolt

(P) M8*80mm Bolt

(Q) Butterfly Nut

IEF'-I;:ur:
(A) Seat Frame
r | F4PC i r‘PE*"IFC ;2pr5+1pc
(F) Backrest (G) Leg (L) Gasket (N) Washer
[ 4pcs+1pc rdl-pl:s rdp«cs r1pc
(R) Alley Key




CHAIR COMPONENTS

» Parts List ( BOXC)

2pcs 2pes

e —

(A) Seat Frame (B) Seat Cushion

(F) Backrest

rﬂpt5+ 2pc

(0) M6*60mm Bolt | | (P) M8*80mm Bolt | | (Q) Butterfly Nut

(R) Alley Key




ASSEMBLY INSTRUCTION (CHAIR)

Assemble Seat frame (A) and Seat frame (A) with Butterfly nuts (Q) Washers (N) and Bolts (P).

(A) Seat Frame

(Q) Butterfly Nut (A) Seat Frame
(Q) Butterfly Nut | |

(P) M&*80mm Bolt

(H) Le*lh Armrest (N) Washer . (N) Washer (1) Right Armrest
(P) M8*80mm Bolt | {m ‘Alley Key -

i i !"-*Ei']xa =)}
(A) Seat Frame i @)% 4] w8 80mm|
Ll 8
Assemble the Legs (G) on the sofa with Gaskets (L).
{G} Leg () Right Armrest
] e e . O o E
R i [ |'_]
Lr (L) GasketL'_I ? LE T X
J‘II' "|. 'Il I
j b= I
[ a 1
(A) Seat Frame (A) Seat Frame
L]
- ‘< -« | E
0 oY Y=
= L} |
| A
(H) Left Armrest L &




<P

Insert the Backrest (F) into the designated holes, using Washer (N) and Bolts (O) to 70% tightess,
and them tighten the all Bolts on the seat.

_~(R)AlleyKey .
o e | S
‘!‘ | ] - (0) M6*60mm Bolt
“ =y = o e PP (N) Washer
(F) Backrest
- B (1) Right Armrest
) ol

! {A}. Seat Frame LE [ ©Wx8 © }
(H) Left Armrest ‘ @xa Iua-aumnj

The cushion is packaged by vacuum compression. After cutting the package, it rebounds

quickly within 4 hours. If the fabric has wrinkes, it will basically disappear after standing

for 72 hours.
Pat around evenly plump

(8) Seat Cushion : O;H;&* % _.é;f;_ x3
b §

Pat around evenly plump
Cut , i o
(C) Back Cushion : @ =2 I s I = x3
Pat around e}nly plump

Cut 1 . =
(D) Arm Pillow : Q?E_' : I"’ ‘a—xz

o 8




<D

Place Seat cushions (B) and back cushions (C), and make sure it's will fitted.

(C) ﬂ:i_!tk Cushion
(H) Left Armrest | (1) Right Armrest
i.uu...- l {F} Ba,:kmﬂ -.--1"...:
L
(A) Seat Frame

Seat Cushio

Y=V

Place Pillows (E) and Pillows (D) on sofa and make sure it's will fitted.

(D) Arm Pillow (E) Pillow (D) Arm Pillow




<P

If the fabric has wrinkles, it will basically diappear after standing for 72 horus. Well done!! You
can enjoy your leisure time on the sofa now.

-

|“] RETURN POLICY

® We hope you enjoy your new furniture as much as we enjoyed making it, if you have any commentsor
suggestion about our product, please feel free 1o share with us,

® We do our best to ensure your furniture arrives without any problems, but occasionally mistakes happen-as
humans we are imperfect beings. In the event that a part is damaged or missing, wereally don't want you to go
through the hassle of re-packaging your item and sending it back, wewill be more than happy to provide you
with replacement part(s) for free. All yvour concerns will be taken good care of by Our CUSTOMER SERVICE TEAM,

® All returns must be shipped back in original boxes Pictures may be required for some returns toensure an
itemn is not damaged prior to its return.tems received without original boxes may not be acceptedor may
inCrease your return processing time.

A WARNING

Manufacturer and seller expressly disclaim any and all liability for personal injury, property damage

or loss, whether direct, indirect, or incidental, resulting from the incorrect attachment, improper use,

II1.':'||'_:|l':1-'_'|I.Ir1reE mamtenance. '..|'1,-'|[]_:'l'-'.l'.'"-_1:'_| rncdific Ao, ar I'|l'-_1|:'_;|;|'-_'-l.'_r |'_'|-'- this algelall ICT




